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POLINOMIO 1 -2 +2 x -1

DIVISOR x -1 a = -(-1)= 1

1 -2 2 -1 1 -2 +2 x -1 x -1

-1 +1 1 -1 x +1

1 1 -1 1 -1 +2 x

1 -1 1 0 +1 -1 x

+1 x -1

-1 x +1

0

cociente: -1 x +1

resto: 0

Valor del polinomio en "a": P(1)= 0

x3 x2

x3 x2

x3 x2 x2

x2

x2

x2
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16 a)
POLINOMIO 2 -4 -6 x +8

DIVISOR x +1 a = -(+1)= -1

2 -4 -6 8 2 -4 -6 x +8 x +1

-2 -2 2 -6 x 0

-1 -2 6 0 -6 -6 x

2 -6 0 8 +6 +6 x

0 x +8

0 x 0

+8

cociente: 2 -6 x 0

resto: 8

Valor del polinomio en "a": P(-1)= 8

x3 x2

x3 x2

x3 x2 x2

x2

x2

x2
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16 b)
POLINOMIO -5 +2 -1 x +3

DIVISOR x -2 a = -(-2)= 2

-5 2 -1 3 -5 +2 -1 x +3 x -2

+5 -10 -5 -8 x -17

2 -10 -16 -34 -8 -1 x

-5 -8 -17 -31 +8 -16 x

-17 x +3

+17 x -34

-31

cociente: -5 -8 x -17

resto: -31

Valor del polinomio en "a": P(2)= -31

x3 x2

x3 x2

x3 x2 x2

x2

x2

x2
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c)
POLINOMIO 1 +3 -5 +1 x -7

DIVISOR x +3 a = -(+3)= -3

1 3 -5 1 -7

-3 -3 0 15 -48

1 0 -5 16 -55

cociente: 0 -5 x +16

resto: -55

Valor del polinomio en "a": P(-3)= -55

x4 x3 x2

x3 x2
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d)
POLINOMIO 2 -1 +6 -3 x +1

DIVISOR x +2 a = -(+2)= -2

2 -1 6 -3 1

-2 -4 10 -32 70

2 -5 16 -35 71

cociente: 2 -5 +16 x -35

resto: 71

Valor del polinomio en "a": P(-2)= 71

x4 x3 x2

x3 x2
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e)
POLINOMIO 1 -1 +1 -1 x +1

DIVISOR x -1 a = -(-1)= 1

1 -1 1 -1 1

1 1 0 1 0

1 0 1 0 1

cociente: 0 +1 x 0

resto: 1

Valor del polinomio en "a": P(1)= 1

x4 x3 x2

x3 x2
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POLINOMIO -1 +2 -1 +2 -1 x -1  

DIVISOR x -3 a = -(-3)= 3

-1 2 -1 2 -1 -1

3 -3 -3 -12 -30 -93

-1 -1 -4 -10 -31 -94

cociente: -1 -1 -4 -10 x -31

resto: -94

Valor del polinomio en "a": P(3)= -94

x5 x4 x3 x2

x4 x3 x2
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17 a)
POLINOMIO 5 0 0 3 x -5

DIVISOR x +1 a = -(+1)= -1

5 0 0 3 -5

-1 -5 5 -5 2

5 -5 5 -2 -3

cociente: 5 -5 +5 x -2

resto: -3

Valor del polinomio en "a": P(-1)= -3

x4 x3 x2

x3 x2
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17 b)
POLINOMIO -3 +2 +1 x +4

DIVISOR x -5 a = -(-5)= 5

-3 2 1 4

5 -15 -65 -320

-3 -13 -64 -316

cociente: -3 -13 x -64

resto: -316

Valor del polinomio en "a": P(5)= -316

x3 x2

x2
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17 c)
POLINOMIO 2 0 -1 0 0 x +1  

DIVISOR x -1 a = -(-1)= 1

2 0 -1 0 0 1

1 2 2 1 1 1

2 2 1 1 1 2

cociente: 2 +2 +1 +1 x +1

resto: 2

Valor del polinomio en "a": P(1)= 2

x5 x4 x3 x2

x4 x3 x2
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17 d)
POLINOMIO 2 -3 +5 x 0

DIVISOR x -2 a = -(-2)= 2

2 -3 5 0

2 4 2 14

2 1 7 14

cociente: 2 +1 x +7

resto: 14

Valor del polinomio en "a": P(2)= 14

x3 x2

x2
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18)
POLINOMIO 7 0 -5m x -2

DIVISOR x +1 a = -(+1)= -1

1ª forma de resolverlo:

7 0 -5m -2

-1 -7 7 5m-7

7 -7 7-5m 5m-9

resto: 5m-9 5m -9 = -4

Según el problema, el resto debe ser -4 5m = -4 + 9

5m = 5

m = 1

2ª forma de resolverlo:

7 0 -5m -2 -5m + 7 = 2

x3 x2
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-1 -7 7 -2 -5m = 2 - 7
7 -7 2 -4

-5m = -5

m = 1
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